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1	Overall description
In FS_eEDGEAPP study, SA6 is discussing about EAS bundles as part of KI#18 in TR 23.700-98.
In Rel.17, EDGEAPP supported the notion of AC directly connecting to multiple EAS(s) to consume application services. As part of the study in Rel.18 of FS_eEDGEAPP in KI#18, an enhancement is considered where AC can identify EAS bundle(s) (i.e. 2 or more EAS(s)) from the multiple EAS(s) consumed by the AC. The main reason for bundling EAS(s) is to consume the bundled EAS(s) with similar/same service KPIs. During service continuity, it is expected that the EAS bundles are relocated together.
Let us assume - EAS1 and EAS2 are consumed by the AC as an EAS bundle and AC has the EAS bundle latency requirement as 50 ms which means that AC expects 50 ms will be the tolerant latency when consuming services from EAS1 and EAS2. ECSP offers the edge infrastructure in a region which consists of EDN1 and EDN2 which can provide different network service KPI in its corresponding EDN service area. Each EDN has one or more EHEs (Edge Hosting Environment) deployed which hosts one or more EASs. Let us assume that EDN1 can provide ~30 ms latency KPI and EDN2 can provide ~50 ms latency KPI. 
When EAS1 and EAS2 are deployed, the following cases of EAS deployments are being discussed for feasibility which allows AC to consume the EAS bundle with its latency requirement of 50ms:
Case#1: The EASs may be deployed in multiple EDNs in the region. The EASs are spread across multiple EDNs. EAS1 is deployed in EHE of EDN1 and EAS2 is deployed in EHE of EDN2. 
Case#2: The EASs may be deployed in same EDN of the region but in multiple EHEs. The EASs can be spread across multiple EHEs in the same EDN. EAS1 is deployed in the EHE1 of EDN1 and EAS2 is deployed in EHE2 of EDN1.
Case#3: The EASs may be deployed in a single EHE of an EDN in the region. The EASs are deployed in one EHE of one EDN only. EAS1 and EAS2 are deployed in the EHE1 of EDN1. 
In all the above case, it is required that AC on the UE needs to obtain the 50 ms latency for consuming the application service from the EAS bundle when moving within the geographical area covered by the EDNs.

Questions:
Q1: Whether it is necessary and possible to deploy EAS(s) in the same EDN (as in Case#2) to satisfy AC's EAS bundle requirement?
Q2: Whether it is necessary and possible to deploy EAS(s) in the same EHE of an EDN (as in Case#3) to satisfy AC's EAS bundle requirement?
Q3: Whether the EAS(s) deployment in different EDNs (as in Case#1) be bundled by the AC to satisfy the AC's EAS bundle requirement?
2	Actions
To SA5
ACTION: 	SA6 asks SA5 to provide answer for above questions.

3	Dates of next TSG SA WG 6 meetings
SA6#52-e              14th November – 18th November 2022 	meeting
SA6#52-bis-e        16th January – 25th January 2023 	meeting
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